FrlL>ITY b bV &

LANILIG

% I = Z3IEASRDIHOOKE
Z3IEABR=LNL20
FIPREFRET 2
7 # 2 (11 o&)
1 2,392 -+ 26
2 775 + 31
3 1,218 14
4 3,150 -+ 50
5 6,636 -~ 79
6 41,418 -+ 702
7 38,552 =+ 61
8 7,740 -+ 430
9 16,443 -+ 29
10 60,183 -+ 81
11 38,552 =+ 488
12 10,556 -+ 52
13 14,064 - 293
14| 46,150 -+ 65
15 8,905 -+ 137
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FrlL>ITY b bV &

LANILIG

% 2 = Z3IEASRDIHOOKE
Z3IEABR=LNL20
FIPREFRET 2
7 # 2 (11 o&)
1 3,320 -+ 83
2 6,097 -+ 67
3 840 - 24
4 6,256 -+ o2
5 1,003 =+ 17
6 33,088 =+ 517
7 2,725 =+ 109
8 18,306 -~ 54
9 63,140 -+ 82
10 18,468 -+ 38
11 26,416 -+ 52
12 79,524 -+ 846
13 6,942 - 178
14| B9,220 =+ 63
15 36,972 -+ 711
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FrlL>ITY b bV &

LANILIG

% 3 = Z3IEASRDIHOOKE
Z3IEABR=LNL20
FIPREFRET 2
7 # 2 (11 o&)
1 986 -+ 17
2 4,032 =+ 72
3 3,627 -+ 39
4 3,072 -+ 48
5 1,220 =+ 20
6 9,577 -+ 61
7 45,714 -+ 802
8 13,272 =+ 14
9 20,667 =+ 83
10 22,680 -+ 630
11 16,422 -+ 714
12| a7z, 70a -+ 536
13 28,080 =+ 540
14 3,103 -+ 29
15 62,084 -+ 68
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FrlL>ITY b bV &

LANILIG

% 4 = Z 314 5SRO HDOKE
Z3IEASH/=L~IL20
FIPREFRET 2
7 # 2 (1M1 oK)
1 3,612 - 86
2 2,044 =+ 28
3 3,185 -+ 35
4 2,820 =+ 60
5 665 -+ 19
6 9,143 = 41
7 46,512 = 57
8 34,170 =+ 402
9 27,132 =+ 34
10 60,970 =+ 910
11 14,973 -+ 217
12 5510 -+ 29
13 43,362 -+ 54
14 15,680 -+ 448
15 31,392 = 872
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FrlL>ITY b bV &

LANILIG

% 5 = Z3IEASRDIHOOKE
Z3IEABR=LNL20
FIPREFRET 2
7 # 2 (11 o&)
1 3,225 =+ 43
2 1,280 =+ 64
3 2,976 =+ 31
4 532 =+ 28
5 1,026 -+ 18
6 31,752 =+ 36
7 9,214 -~ 542
8 37,851 =+ o3
9 29,450 =+ 950
10 51,792 =+ 78
11 64,385 -+ 815
12 11,568 -+ 24
13| 44,730 = 630
14 9,633 -+ 169
15 34,615 -+ 43
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FrlL>ITY b bV &

LANILIG

% 6 = Z3IEASRDIHOOKE
Z3IEABR=LNL20
FIPREFRET 2
7 # 2 (11 o&)
1 2,170 = 35
2 710 = 71
3 2,862 -+ 53
4 2,842 -+ 29
5 5,628 - 67
6 83,749 -+ 89
7 7,152 =+ 447
8 30,210 = 57
9 11,796 -+ 12
10 53,734 -+ 802
11 37,262 =+ 62
12 32,810 -+ 965
13 32,308 =+ 394
14 4,320 =+ 18
15 10,443 -~ 177
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FrlL>ITY b bV &

LANILIG

% 7 = Z3IEASRDIHOOKE
Z3IEASH/=L~IL20
FIPREFRET 2
7 # 2 (1M1 oK)
1 1,458 =+ 54
2 1,472 =+ 16
3 3,080 -+ 88
4 6,231 =+ 67
5 680 -+ 17
6 62,652 -+ 69
7 18,375 =+ 875
8 14,018 -+ 326
9 8,320 -+ 52
10 65,886 -+ 79
11 6,903 =+ 177
12 12,444 -+ 204
13 43,520 -+ 640
14 24,675 -+ 75
15 33,872 =+ 58
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FrlL>ITY b bV &

LANILIG

% 8 = Z3IEASRDIHOOKE
Z3IEASH/=L~IL20
FIPREFRET 2
7 # 2 (1M1 oK)
1 1,239 =+ 59
2 832 -+ 13
3 1,440 =+ 15
4 1,740 =+ 87
5 3,741 -+ 43
6 29,444 -+ 68
7 9,894 -+ 97
8 34,060 =+ 524
9 41,172 = a7
10 12,870 -+ 990
11 14,016 - 64
12 7,105 =+ 203
13 27,300 =+ 78
14| ae6,822 -+ 571
15 30,912 - 448
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FrlL>ITY b bV &

LANILIG

% q = Z 314 5SRO HDOKE
Z3IEABR=LNL20
FIPREFRET 2
7 # 2 (11 o&)
1 690 =+ 23
2 1,408 =+ 22
3 1,428 84
4 5568 -+ 58
5 1,425 =+ 19
6 22,086 -+ 409
7 22,320 =+ 24
8 3,263 -+ 13
9 17,836 =+ 637
10 57,545 -+ 85
11 75,087 = 927
12 4,050 -+ 15
13 28,992 =+ 64
14| 41,808 =+ 804
15 26,544 -+ 336
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FrlL>ITY b bV &

LANILIG

% 10 B Z3IEASRDIHOOKE
Z3IEABR=LNL20
FIPREFRET 2
7 # 2 (11 o&)
1 630 = 30
2 2,232 =+ 24
3 4,806 = 54
4 1,005 =+ 15
5 5568 -+ 87
6 9,894 -+ 34
7 29,072 =+ 79
8 31,408 -+ 604
9 18,837 -+ 897
10 26,400 -+ 55
11 28,900 - 68
12 9,964 -+ 106
13 27,296 = 853
14 23,870 =+ 31
15 12,626 - 214
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FrlL>ITY b bV &

LANILIG

% I B Z3IEASRDIHOOKE
Z3IEABR=LNL20
FIPREFRET 2
7 # 2 (11 o&)
1 5,152 -+ 56
2 o952 -+ 14
3 3,360 -+ 42
4 1,275 =+ 17
5 3,999 -+ o3
6 8,019 -+ 27
7 12,926 - 46
8 15,390 -+ 405
9 76,440 910
10 37,465 -+ 59
11 10,586 -+ 158
12 30,478 =+ 622
13 7.820 =+ 23
14 68,544 -+ o6
15| 42,081 -+ 507
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FrlL>ITY b bV &

LANILIG

% 12 = Z3IEASRDIHOOKE
Z3IEASH/=L~IL20
FIPREFRET 2
7 # 2 (1M1 oK)
1 4,161 -+ 73
2 3,264 -+ 34
3 504 -+ 18
4 1,440 =+ 16
5 1,248 =+ 52
6 18,208 -+ 32
7 14,652 =+ 407
8 2,880 =+ 16
9 68,495 -+ 95
10 37,260 -+ 828
11 6,552 =+ 168
12 13,860 -+ 45
13 15,152 =+ 947
14 14,924 -+ 26
15 75,440 820
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